
THESE INSTRUCTIONS SHOULD ONLY BE PRINTED USING ADOBE

ACROBAT AND SHOULD NOT BE FAXED OR REPRODUCED ON A

DIGITAL COPIER. AMERICAN WOODMARK CORPORATION PROVIDES

THESE INSTRUCTIONS ON AN “AS IS” BASIS AND DISCLAIMS ANY 

AND ALL LIABILITY FOR ANY INACCURACIES, OMISSIONS OR

TYPOGRAPHICAL ERRORS CAUSED BY THE USER’S EQUIPMENT OR 

BY ANY THIRD PARTY’S EQUIPMENT.

ESTAS INSTRUCCIONES SOLO SE DEBEN IMPRIMIR USANDO ADOBE

ACROBAT Y NO SE DEBEN ENVIAR POR FAX NI SE DEBEN 

REPRODUCIR EN UNA COPIADORA DIGITAL. AMERICAN WOODMARK

CORPORATION PROPORCIONA ESTAS INSTRUCCIONES “TAL COMO

ESTAN” Y RENUNCIA A CUALQUIER Y A TODA RESPONSABILIDAD POR

CUALQUIER FALTA DE PRECISION, OMISION O ERROR TIPOGRAFICO

CAUSADO POR EL EQUIPO DEL USUARIO O POR EL EQUIPO DE

TERCERAS PERSONAS.



Rev-A-Shelf LLC • 2409 Plantside Drive • Jeffersontown, KY 40299I-5TR-TRI

Installation Instructions for Pull-Out Towel Bar
Instrucciones para instalar el portatoallas extensible
Notice d’installation du porte-serviettes extensible

Standard Installation • Instalación estándar • Installation standard 
1.	 Determine inside wall of cabinet for installation and also determine a 
	 convenient height for your installation.
1.	 Determine la pared interior del armario y también la altura que sea 
	 conveniente para la instalación.
1. 	 Trouver une hauteur appropriée pour l’installation du porte-serviettes sur la 		
	 paroi intérieure d’une armoire.
2.	 Now position towel holder with front of slide near front opening  of cabinet 
	 (for best extension). Use a level and mark three (3) hole locations through 
	 towel holder slide.
2. 	 Coloque el portatoallas con el frente de la deslizadera cerca de la abertura 		
	 central del armario (para que se extienda mejor). Use un nivel para marcar 		
	 la posición de tres (3) orificios a través de la desliza dera.
2. 	 Placer ensuite le porte-serviettes avec l’avant de la glissière près de l’ouverture
	 avant de l’armoire (pour permettre une extension maximale). Avec un niveau, 	
	 marquer l’emplacement de trois (3) trous au travers de la glissière du 
	 porte-serviettes.
3.	 Hold slide over marked hole locations and install towel holder with three 		
	 Phillips head screws provided in hardware bag. 
3. 	 Sujete la deslizadera sobre las marcas para tornillos e instale el 
	 portatoallas con tres tornillos de cabeza Phillips de la bolsa de ferretería.
3. 	 Maintenir la glissière par-dessus les emplacements des trous et fixer le 		
	 porte-serviettes avec les trois (3) vis cruciformes qui se trouvent dans le sac
	 de visserie.
•Toll Free Customer Service is available durng weekday business hours:
•Ofrecemos atención gratuita a los clientes durante la semana en horas laborales:
•Pour atteindre le service à la clientèle pendant les heures d’ouverture en semaine,
  composer le numéro sans frais: 800-626-1126

NOTE: 1-1/2” Face Frame - Uses 7/8” Spacers
1-3/4” Face Frame - Uses both spacers
(2) #8 x 1- 1/4 Pan Head Screws
(for use with spacers)
NOTA: El bastidor delantero de 38 mm (1-1/2 pulg.) 
requiere separadores de 22 mm (7/8 pulg.)
El bastidor delantero de 44 mm (1-3/4 pulg.) 
requiere ambos separadores
(2) Tornillos de cabeza redonda núm. 8 x 1-1/4 pulg.
(se utilizan con espaciadores)
REMARQUE. Cadre frontal de 38 mm (1,5 po) 
– utilise des espaceurs de 22 mm (7/8 po)
Cadre frontal de 44 mm (1,75 po) – utilise les deux 
espaceurs Deux (2) vis à tête cylindrique bombée 
no 8 x 1-1/4 (à utiliser avec les espaceurs)

Tool Required
#2 Philips Screwdriver, Level, 
Tape Measure, and Pencil
NOTA: Herramientas necesarias
Destornillador Phillips núm. 2, 
nivel, cinta de medir y lápiz
REMARQUE. Outils requis 
Tournevis à pointe cruciforme no 2, 
niveau, ruban à mesurer et crayon.

•(3) #6 x 5/8” Flathead Screws
(for use when not using spacers)
•(3) Tornillos de cabeza plana 
núm. 6 x 5/4 pulg. (se utilizan sin 
espaciadores)
•Trois (3) vis à tête fraisée no 6 x 5/8 
po (à utiliser lorsque les espaceurs ne 
sont pas utilisés)

Rev-A-Shelf LLC • 2409 Plantside Drive • Jeffersontown, KY 40299I-5TR-TRI

Installation Instructions for Pull-Out Towel Bar
Instrucciones para instalar el portatoallas extensible
Notice d’installation du porte-serviettes extensible

Standard Installation • Instalación estándar • Installation standard 
1.	 Determine inside wall of cabinet for installation and also determine a 
	 convenient height for your installation.
1.	 Determine la pared interior del armario y también la altura que sea 
	 conveniente para la instalación.
1. 	 Trouver une hauteur appropriée pour l’installation du porte-serviettes sur la 		
	 paroi intérieure d’une armoire.
2.	 Now position towel holder with front of slide near front opening  of cabinet 
	 (for best extension). Use a level and mark three (3) hole locations through 
	 towel holder slide.
2. 	 Coloque el portatoallas con el frente de la deslizadera cerca de la abertura 		
	 central del armario (para que se extienda mejor). Use un nivel para marcar 		
	 la posición de tres (3) orificios a través de la desliza dera.
2. 	 Placer ensuite le porte-serviettes avec l’avant de la glissière près de l’ouverture
	 avant de l’armoire (pour permettre une extension maximale). Avec un niveau, 	
	 marquer l’emplacement de trois (3) trous au travers de la glissière du 
	 porte-serviettes.
3.	 Hold slide over marked hole locations and install towel holder with three 		
	 Phillips head screws provided in hardware bag. 
3. 	 Sujete la deslizadera sobre las marcas para tornillos e instale el 
	 portatoallas con tres tornillos de cabeza Phillips de la bolsa de ferretería.
3. 	 Maintenir la glissière par-dessus les emplacements des trous et fixer le 		
	 porte-serviettes avec les trois (3) vis cruciformes qui se trouvent dans le sac
	 de visserie.
•Toll Free Customer Service is available durng weekday business hours:
•Ofrecemos atención gratuita a los clientes durante la semana en horas laborales:
•Pour atteindre le service à la clientèle pendant les heures d’ouverture en semaine,
  composer le numéro sans frais: 800-626-1126

NOTE: 1-1/2” Face Frame - Uses 7/8” Spacers
1-3/4” Face Frame - Uses both spacers
(2) #8 x 1- 1/4 Pan Head Screws
(for use with spacers)
NOTA: El bastidor delantero de 38 mm (1-1/2 pulg.) 
requiere separadores de 22 mm (7/8 pulg.)
El bastidor delantero de 44 mm (1-3/4 pulg.) 
requiere ambos separadores
(2) Tornillos de cabeza redonda núm. 8 x 1-1/4 pulg.
(se utilizan con espaciadores)
REMARQUE. Cadre frontal de 38 mm (1,5 po) 
– utilise des espaceurs de 22 mm (7/8 po)
Cadre frontal de 44 mm (1,75 po) – utilise les deux 
espaceurs Deux (2) vis à tête cylindrique bombée 
no 8 x 1-1/4 (à utiliser avec les espaceurs)

Tool Required
#2 Philips Screwdriver, Level, 
Tape Measure, and Pencil
NOTA: Herramientas necesarias
Destornillador Phillips núm. 2, 
nivel, cinta de medir y lápiz
REMARQUE. Outils requis 
Tournevis à pointe cruciforme no 2, 
niveau, ruban à mesurer et crayon.

•(3) #6 x 5/8” Flathead Screws
(for use when not using spacers)
•(3) Tornillos de cabeza plana 
núm. 6 x 5/4 pulg. (se utilizan sin 
espaciadores)
•Trois (3) vis à tête fraisée no 6 x 5/8 
po (à utiliser lorsque les espaceurs ne 
sont pas utilisés)

10-0518-01 VS-35


	10-0518.pdf
	10-0518



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


